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1.  Avariable line % + i— =1 is such that @ + b = 4. The locus of the midpoint of the portion

of the line intercepted between the axes is
1) x+y =4 2) x+y =8

) x +y =1 4) x+y =2

2 _8x=0 ‘2) x2+y%2-5Bx+ Ty =0

2_Bx+Ty—-1=0 4 x2+9%2 _8c+ Ty -2=0

3.
4 the focus and any point on the parabola
1) x+a=0
3 x=0.
5. The tangents drawn at the extremeties of a focal chord abola y 2-16x
1) intersect on x =0 2) intersect on e +4=0
3) intersect at an angle of 60" 4) intersect at an a
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6. lottpsishigaesd DIegsPEL:€0Y-5.1f 2+(x +3)=5 thenx =

B ) 2) 3
3) 5 4) 10

Which of the following is false ?
1) Addition is commutative in N.

1)

3) 4)
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R is a relation on N given by R ={(x, y.) | 4x +3y =20}. Which of the following

(a2 - 2) (5 0) -
4) (2, 4)

13.

14. e e I Sl wto

7! is divisible by
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N  1) PR A ' va) e

3) 2<£A<b 4) 2>1>5

: e 2 .2
The equation to the normal to the hyperbola 2:1-6_ —% =1 at (-4, 0) is

2) x=0
4) y =0

'_2) ¥ o B
4) ~p—>q

sector of a circle is equal to the length of the arc of the semicircle.
o of the sector in radians is

; [ MO 2) m+2 .
5 I e B2
3 3

20. The value of an 67% + Cot 67%

D 2
3) 22
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hetit i/ j sio i) eledd eldOTGBP@ L IO WY 3:? ~3y2 =25 and its conjugate, then

1) ‘ef +ef =2 2) ef +e3=4

3) 81+82=4 : - 4) e1+22=J§

22. If p and g are prime numbers satisfying the condition p?-2¢*% =1, then the value of
1) 5 2) 15
3) 16 .o 4) 17

=51 where I is the identity matrix of order 3, then |adj A| is equal to
2) 25
4) 10

2) e"[x5—5x4-20x3-60x2-1
3) e*|x%-5x*+20x% -60x2% +120x -

4 e* [x5 +5x% +20x3 —60x2 —120x +120]+
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26. If f (x) is an even function and f'(x ) exists, then f'(e )+/"(-¢) is
1 =0 2) 0

3) 20 - 4) <0

@ is a complex number satisfying the equation a® +a+1=0 then ol is equal to

4) B =4
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31. MR i/iS pig Gled hide@sSPOt: 8@ Prifs distances from two fixed points
~ is a constant is '

1) a circle 2) a parabola
3) an ellipse 4) a hyperbola

The centroid of the triangle ABC where A =(2, 3), B =(8, 10) and C =(5, 5) is
1 (5, 6) 2) (6, 5)
4) (15, 18)

2) 9
4) -9

2) x24+y%2-bx-5y+12=0

3) x2+y2+5x -5y NAAA 4) x®+y?%-5x+5y -12=0

35. The characteristic roots of the matrix

1) 1,8, 6
3) 4,5,6
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36. er:[l 2:|,thenA_1=
3 4 _

38

39.

40.

1] & -3 1 4 -2
D Sl 1 2 3l8 1

113 o [75]
1 3 | 13

re law , 2) Associative law

4) Inverse law .

line through the\g#at e tower are o, 2 and 3« respectively. If AB = a, the height
of the tower is / :

2) aSin a
'4) a Sin 3«

1) aTan
3) aSin2a .

&@

The angles A, BandCofatn 2

are in A.P. If b ;¢ =+/3 : /2, then the angle
A is '
1) 3¢°

3) 750

Sin 28511"11’@ =
65 | :

24126

65

863
B e

1)
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41 tpisbigd eadib | oyspotaana) eiven by

T v 4

nmT+— 2nm+—

1) 36 . 2). n 1
b4 T
nrt— e
3) i 4) nnm -

1)1
3) 3

Sinx Cos x

" j V1-Sin‘x,

1 % Sin™! (Sin®x ) +C

dx =

3) Tan-l‘(Sin2x)+c
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2
3
46. The value of I (ax +bx +c)dx depends on the
. 22

1) wvalue of b 2) wvalue of ¢

3) value of a 4) values of @ and b

— sq. units 2) — sq. units

4) = it
3 8q. units

48.

49.

50. f(x)=2e¢-x in -a<x<a
=3x-2a in asx.

Then which of the following is true?

1) f(x) is discontinuous at x = a

3) 7 (x) is differentiable at all x >¢

(Space for Rough Work)

SR -17




51. Mistpshisbigdoalolo gePe b-aEHFd in a crde of radius 2 units is

(in square units)
1) 4 2) 8=n

3) 8 4) 5

Z is a complex number such that Z = ._ZI, then

A stone is thrown vertically upwards and the he¥
is given by x =80¢ — 16¢%. The stone reaches the ™
1) 2 seconds 2) 2.5 sect

eached by the stone in ¢ seconds

3) 3 seconds 4) 1.5 seconds
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56. %WM@MWQtCO m/

k) X 2)

® |

4)

N“_L

59. -[Secx +Tanx ol

1) Tanx — Secx +C

3) Secx +Tanx +C
60. If [f (x)dx =g (x), then [f (x) & (x)dx =
D 376 2 3

3) :,15[43"(%)]2 . b ) elx)
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